

Title	Associations between child filaggrin mutations and maternal diet with the development of allergic diseases in children
Authors	Venter, Carina;Palumbo, Michaela P.;Sauder, Katherine A.;Glueck, Deborah H.;O'Mahony, Liam;Yang, Ivana;Davidson, Elizabeth J.;Brough, Helen A.;Holloway, John W.;Fleischer, David M.;Ben# Abdallah, Miriam;Dabelea, Dana
Publication date	2022-03-02
Original Citation	Venter, C., Palumbo, M. P., Sauder, K. A., Glueck, D. H., O'Mahony, L., Yang, I., Davidson, E. J., Brough, H. A., Holloway, J. W., Fleischer, D. M., Ben-Abdallah, M. and Dabelea, D. (2022) 'Associations between child filaggrin mutations and maternal diet with the development of allergic diseases in children', <i>Pediatric Allergy and Immunology</i> , 33(3), e13753 (10pp). doi:10.1111/pai.13753
Type of publication	Article (peer-reviewed)
Link to publisher's version	10.1111/pai.13753
Rights	© 2022, EAACI and John Wiley and Sons A/S. Published by John Wiley and Sons Ltd. This is the accepted version of the following item: Venter, C., Palumbo, M. P., Sauder, K. A., Glueck, D. H., O'Mahony, L., Yang, I., Davidson, E. J., Brough, H. A., Holloway, J. W., Fleischer, D. M., Ben-Abdallah, M. and Dabelea, D. (2022) 'Associations between child filaggrin mutations and maternal diet with the development of allergic diseases in children', <i>Pediatric Allergy and Immunology</i> , 33(3), e13753 (10pp), doi:10.1111/pai.13753, which has been published in final form at: https://doi.org/10.1111/pai.13753 . This article may be used for non-commercial purposes in accordance with Wiley Terms and Conditions for Use of Self-Archived Versions.
Download date	2026-10-11 11:38:07
Item downloaded from	https://hdl.handle.net/10468/14362



University College Cork, Ireland
Coláiste na hOllscoile Corcaigh

Associations between child filaggrin mutations and maternal diet with the development of allergic diseases in children

Carina Venter PhD^{a,b}, Michaela P. Palumbo MS^c, Katherine A. Sauder PhD^{c,d}, Deborah H. Glueck PhD^{c,d}, Liam O'Mahony PhD^e, Ivana Yang PhD^{f,g}, Elizabeth J Davidson MS^f, Helen A Brough MD PhD^{h,i,j}, John W. Holloway PhD^k, David M. Fleischer MD^{a,b}, Miriam Ben-Abdallah MD^d, Dana Dabelea MD PhD^{c,d,g}

Affiliations:

- a. Section of Allergy & Immunology, Department of Pediatrics, Children's Hospital Colorado, University of Colorado School of Medicine, Aurora, Colorado
- b. Children's Hospital Colorado, Aurora, CO, USA.
- c. Lifecourse Epidemiology of Adiposity and Diabetes Center, University of Colorado Anschutz Medical Campus, University of Colorado Denver, Aurora, Colorado
- d. Department of Pediatrics, University of Colorado School of Medicine, University of Colorado Denver, Aurora, Colorado
- e. Departments of Medicine and Microbiology, APC Microbiome Ireland, University College Cork, Cork, Ireland
- f. Department of Medicine, University of Colorado School of Medicine, Aurora, CO
- g. Department of Epidemiology, Colorado School of Public Health, University of Colorado Denver, Aurora, Colorado
- h. Paediatric Allergy Group, Department Women and Children's Health, School of Life Course Sciences, King's College London, London, UK
- i. Paediatric Allergy Group, School of Immunology and Microbial Sciences, King's College London, London, UK
- j. Children's Allergy Service, Evelina Children's Hospital, Guy's and St. Thomas's NHS Foundation Trust, Westminster Bridge Rd, London SE1 7EH.
- k. Human Development and Health, Faculty of Medicine, University of Southampton

Corresponding author

Carina Venter PhD RD
Associate Professor of Pediatrics, Section of Allergy & Immunology
University of Colorado Denver School of Medicine
Children's Hospital Colorado
13123 East 16th Avenue, Box B518

Anschutz Medical Campus
Aurora, CO 80045

Conflict of interest statement

Dr. Venter reports grants from Reckitt Benckiser, grants from Food Allergy Research and Education, grants from National Peanut Board, during the conduct of the study; provided educational material or consultancy for Reckitt Benckiser, Nestle Nutrition Institute, Danone, Abbott Nutrition, Else Nutrition, and Before Brands, outside the submitted work. Dr. O'Mahony reports personal fees from PrecisionBiotics, personal fees from Nestle, personal fees from Nutricia, personal fees from Reckitt, outside the submitted work. The other authors declare no interests.

Financial support

This work was supported by the National Institutes of Health (NIH), grant numbers: R01 DK076648/DK/NIDDK NIH HHS/United States, R01 GM121081/GM/NIGMS NIH HHS/United States, UG3 OD023248/OD/NIH HHS/United States, UH3 OD023248/OD/NIH HHS/United States, R25GM111901-S1, R25GM11190, NIH grant R00ES025817.

Abstract

Background

Filaggrin (FLG) loss-of-function mutations in children and maternal diet in pregnancy have been implicated in child allergy outcomes. This paper studies the questions: “Do FLG mutations modify the effect of maternal diet on the odds of development of allergic diseases?” and “Which factor leads to the highest rate of diagnosis allergic diseases over time, maternal diet, or FLG mutations?”

Methods

Exact logistic regressions studied effect modification. Cox proportional hazards models compared the rate of allergic disease development in three groups (N=624): (1) children with FLG mutation, (2) children without FLG mutation whose mothers did not eat an allergy preventive diet, and (3) children without FLG mutation whose mothers ate an allergy preventive diet. Maternal diet was classified using a validated index.

Results

There was no significant effect modification for any outcome. Cox models showed development of atopic dermatitis, asthma, and wheeze were significantly higher for children in group 1 vs. 3 (HR=2.40 [1.32, 4.37], HR=2.29 [1.05, 4.97], and HR 2.10 [1.004, 4.38], respectively), but not significantly higher for children in group 1 vs. 2 (HR=1.30 [0.74, 2.29], HR=1.27 [0.61, 2.63], and HR=1.29 [0.65, 2.58], respectively). Development of allergic rhinitis was significantly higher for group 1 vs. 2 and 3 (1 vs. 2: HR=2.29 [1.10, 4.76]; 1 vs. 3: HR=3.21 [1.46, 7.08]).

Conclusion

Child FLG mutation did not modify the effect of maternal diet. Children with FLG mutation had similar risk of atopic dermatitis, asthma, and wheeze as children without an FLG mutation whose mothers did not eat an allergy preventive diet during pregnancy. The results suggest that maternal diet in pregnancy, a modifiable risk factor, could be a target for preventive interventions.

Keywords: maternal diet, pregnancy, allergy, prevention, Filaggrin, atopic dermatitis, asthma, allergic rhinitis

Abbreviations

FLG: Filaggrin

FPQ: Food propensity questionnaire

DNA: Deoxyribonucleic acid

HR: Hazard ratio

Introduction

More than 50 million Americans suffer from allergies including asthma, wheeze, allergic rhinitis, atopic dermatitis and food allergy.¹ Although allergic disease is very common, the pathoetiology is not completely understood. Some factors are known to be deleterious. A disrupted epithelial barrier has been implicated in allergic diseases such as asthma, allergic rhinitis and eczema.² Both environmental factors and genetic risk factors may damage the epithelial barrier. The disrupted barrier may then allow exposure to environmental and dietary allergens, and the development of allergic disease.²

The filaggrin gene codes for structural proteins that are crucial for epidermal regulation and skin barrier function.³ Loss-of-function mutations have been implicated in a variety of allergic diseases. Filaggrin (FLG) loss of mutations have been reported in 10 - 40% of children with atopic dermatitis.⁴ A recent meta-analysis by Drislane et al.⁴ showed that “across all studies there is a high risk independently conferred by both null polymorphisms, with an estimated overall OR of 3.51, 3.62, and 3.58 for R501X, 2282del4, and the combined genotype, respectively.” FLG loss of function mutations have also been described as a risk factor for the development of asthma, allergic rhinitis and food allergy.^{4,5}

Maternal diet in pregnancy has been implicated in the development of allergic outcomes.^{6,7} Our team has previously demonstrated that a maternal diet rich in vegetables and yogurt and with reduced intake of red meat, cold cereal, fried potatoes, rice and grains, and 100% fruit juice was associated with 23% reduced odds of atopic dermatitis, 16% reduced odds of asthma, 18% reduced odds of allergic rhinitis, and 20% reduced odds of wheeze.⁸ However, in this study,⁸ the potential effects of FLG mutations was not considered.

Both FLG mutations in the child and maternal dietary intake in pregnancy have been implicated in child allergy outcomes. We set out to answer the questions: “Do FLG mutations modify the effect of maternal diet on child allergy outcomes?” and “Which confers more risk, child FLG mutations or maternal diet?”

Methods

This study leveraged previously collected data and biospecimens from an ongoing longitudinal epidemiological study (Healthy Start, Dabelea, Principal Investigator).^{9,10} The Healthy Start study enrolled 1410 mother-child dyads. The analysis presented in this paper included 624 multi-ethnic mother-child dyads recruited during pregnancy with available data for maternal dietary intake

during pregnancy, DNA extracted from cord blood and analyzed for FLG mutation variants, and verified child allergic outcomes. The Healthy Start study protocol was approved by the Colorado Multiple Institutional Review Board. (IRB number: 09-0563; Healthy Start 1; 2009-2014 and Healthy Start 2; 2015-present). The Healthy Start study was registered as an observational study at clinicaltrials.gov as [NCT02273297](https://clinicaltrials.gov/ct2/show/study/NCT02273297).

Maternal diet

A food propensity questionnaire (FPQ) was given to women to complete at both their mid-pregnancy and delivery research interviews. Each FPQ inquired about the women's diet over the past three months. Full details of the FPQ data appear in Venter et al.

A maternal diet index previously shown to be associated with prevention of allergy was computed. The maternal diet index included intake of vegetables, yogurt, fried potatoes, cold cereal, red meat, 100% pure fruit juice, and rice/grains. The maternal diet index was dichotomized at the median, and women with index scores greater than or equal to the median were classified as having allergy preventive diets. Women with index scores below the median were classified as having non-allergy preventive diets.⁸

Genotyping methods

We characterized FLG loss-of-function mutation variants in previously collected cord blood DNA for a subset of Healthy Start participants. Cord blood was collected for participants at delivery whenever possible. The child DNA was analyzed, in all samples with sufficient DNA for analysis for the following six FLG mutation variants: R501X, S3247X, R2447X, 2282del4, p.S3316X, and p.R826X. Genotyping was performed using Taqman allelic discrimination assays (Table E1 in Online Repository) on a Viia 7 instrument (Thermo Fisher). If a participant had a minor allele genotype for any of the six FLG mutations (Table 1), they were categorized as having at least one FLG mutation. Children with wild-type results for all six FLG variants were defined as having no FLG mutations.

Medical record verified child allergy outcomes

Participants provided consent for review of child medical records. The electronic medical records were searched using previously published terms **used by a systematic review⁶** for asthma, wheeze, allergic rhinitis, hay fever, seasonal allergies, atopic dermatitis and eczema. Detailed methods for the electronic medical record search can be found in Venter et al.¹¹, and are summarized below.

Child allergy outcomes included allergic rhinitis (including seasonal allergies and hay fever), atopic dermatitis (including eczema), asthma, and wheeze.¹¹ Medical records were reviewed by one of the researchers, who assigned diagnoses after thorough review of medical notes. Age at diagnosis was computed using the child's date of birth and the service date associated with their diagnosis. If the medical records of a participant did not match any of the search terms, the participant was considered to have no allergy diagnoses between birth and the age at which the medical record search was conducted. All children were counted in the analyses regardless of allergy status.

Demographic Data

Information regarding child race/ethnicity, nulliparity, **maternal history of asthma**, gestational smoking, breastfeeding duration, and age of introduction of solid foods were obtained via questionnaires. Mode of delivery and child's sex were obtained from electronic medical record data.

Statistical analysis

Demographic characteristics of participants included in the analytic sample were summarized using means and standard deviations or frequencies and percentages for continuous or categorical variables, respectively. Demographic characteristics were compared between those with no child FLG mutation and those with any FLG mutation using non-parametric Wilcoxon rank sum tests and Fisher's exact tests for continuous and categorical variables, respectively.

The duration of follow-up differed for each child as consent was either given to review the child's medical records from birth up to age 4 years, but not 4 to 8 years; or to review the child's medical records from birth up to age 8 years, but the child may not have yet reached 8 years of age when the records were searched. Since logistic models cannot account for different lengths of follow-up, the logistic models were fit only for data up to 4 years of age. The Cox models included data up to 8 years of age.

Separate exact logistic regression models were fit for each of the medical record verified childhood allergic disease outcomes (allergic rhinitis, atopic dermatitis, asthma, wheeze). The goal was to determine whether child FLG mutation modifies the effect of maternal diet on allergy outcomes. For each allergic disease, the outcome for the exact logistic regression models was diagnosis at any time up to age 4 years. The predictors for the models were maternal diet,

dichotomized at the median as allergy preventive or non-allergy preventive, presence of at least one FLG mutation, and the interaction between the diet and FLG terms. The interaction terms were assessed with exact categorical tests.

Cox proportional hazards models were used to examine the associations between any FLG mutation in the child, maternal diet, and allergic outcomes up to 8 years. The Cox proportional hazards modeling approach was used to censor participants up to the age for which they had available electronic medical record data. Age at their first diagnosis was used in all cases.

The rates of development of allergic rhinitis, atopic dermatitis, asthma, and wheeze were compared between the three child FLG mutation and maternal diet groups: (1) children with FLG mutation, (2) children without FLG mutation whose mothers did not eat an allergy preventive diet, and (3) children without FLG mutation whose mothers ate an allergy preventive diet. To understand the interaction between FLG mutation and diet, we would have had to use four groups, stratified by child FLG mutation status (yes vs. no), and diet (preventive vs. non-preventive). However, we were unable to divide the group of children with a FLG mutation into two groups based on maternal diet because the resulting sample sizes were too small to fit Cox proportional hazards models to test differences in rate of development of allergic diseases.

We conducted hypothesis tests and computed hazard ratios (HR) and 95% confidence intervals. For each allergic disease we fit unadjusted and adjusted models. The adjusted models included the following covariates: gestational smoking, nulliparity, **maternal history of asthma**, mode of delivery, breastfeeding duration, age of introduction of solid foods, child's race/ethnicity, and child's sex. The covariates were the same covariates as chosen in the development of the maternal diet index.⁸ We checked that the assumption of proportional hazards was met prior to interpreting the results of these models. Significance for all statistical hypothesis testing was assessed at an alpha level of 0.05. No multiple comparisons adjustments were made, as all hypotheses were *a priori* questions of interest. **As a sensitivity analysis, we adjusted the Cox proportional hazards models for season of birth, as a proxy for maternal prenatal vitamin D exposure.**

As an exploratory analysis, we computed Fisher's exact tests to compare the cumulative incidence of each allergic disease between those with maternal diet index score $\geq$ median (allergy preventive) and maternal diet index score $<$ median (non-allergy preventive), among children with a FLG mutation.

Results

The analytic sample included N=624 participants with available maternal diet data, child FLG genotype, and medical record allergy data (Figure 1). There were no significant differences in the demographic characteristics between the participants included in this analysis and those who were not due to missing data (data not shown). There were 49 children with a FLG mutation (8%). Table 2 describes the characteristics of the study participants, overall, and stratified by the presence or absence of a child FLG mutation.

There were no significant differences in maternal diet, breastfeeding duration, age of introduction of solid foods, gestational smoking, nulliparity, maternal history of asthma, mode of delivery, child's race/ethnicity, or child's sex between children with or without a FLG mutation. The frequency and percentage of children with each of the FLG mutation variants studied are presented in Table E2 (see Online Repository). The breakdown of child FLG mutation variants by race/ethnicity are shown in Table 3.

Results of the exact logistic regression models (Table 4) showed that the interaction between child FLG mutation status and maternal diet was not significant for any of the allergic disease outcomes.

Figure 2 displays the rates of development of (a) allergic rhinitis, (b) atopic dermatitis, (c) asthma, and (d) wheeze for the three groups. The plots in Figure 2 were from the adjusted Cox proportional hazards model fit for each of the outcomes, with covariates values set equal to their median value for continuous variables or their most frequent level for categorical variables. The plots for each of the allergic disease outcomes all show a similar pattern of results. For all allergic outcomes, the highest rate of disease occurs in group 1, children with a FLG mutation. The middle rate of disease occurs in group 2, children without FLG mutation whose mothers did not eat an allergy preventive diet. The lowest rate of disease occurs in group 3, children without FLG mutation whose mothers ate an allergy preventive diet.

Table 5 presents the results of the unadjusted and adjusted Cox proportional hazards models examining the difference in the rate of disease development between the genetic and dietary groups. For all allergic disease outcomes, children in group 1 (FLG mutation) had a significantly increased rate of disease development compared to children in group 3 (no mutation, preventive

diet) (HR [95% CI]: allergic rhinitis = 3.21 [1.46, 7.08]; atopic dermatitis = 2.40 [1.32, 4.37]; asthma = 2.29 [1.05, 4.97]; wheeze = 2.10 [1.004, 4.38]).

For atopic dermatitis, asthma, and wheeze, there was no significant difference between children in group 1 (FLG mutation) compared to children in group 2 (no mutation, non-preventive diet) (HR [95% CI]: atopic dermatitis = 1.30 [0.74, 2.29]; asthma = 1.27 [0.61, 2.63]; wheeze = 1.29 [0.65, 2.58]. For the outcome of allergic rhinitis, children in group 1 (FLG mutation) had a significantly higher rate of disease development compared to children in group 2 (no mutation, non-preventive diet) (HR [95% CI] = 2.29 [1.10, 4.76]).

For atopic dermatitis and asthma, children in group 2 (no mutation, non-preventive diet) had a significantly greater rate of disease development compared to children in group 3 (no mutation, preventive diet) (HR [95% CI]: atopic dermatitis = 1.85 [1.23, 2.78]; asthma = 1.80 [1.07, 3.02]). The sensitivity analysis showed that additional adjustment for the season of birth of the offspring, a proxy for maternal prenatal vitamin D exposure, did not change the direction, magnitude, or significance of our results (data not shown).

The exploratory analysis showed that among children with a FLG mutation, the cumulative incidence of asthma was significantly higher for those with a non-allergy preventive maternal diet in pregnancy compared to those with an allergy preventive maternal diet (44% vs. 10%, $p = 0.01$). Although the cumulative incidences of allergic rhinitis, atopic dermatitis, and wheeze were also observed to be greater among children with a FLG mutation than for those with a non-allergy preventive maternal diet than those with an allergy preventive maternal diet, the differences were not statistically significant (see Table E3 in Online Repository).

Discussion

In this study we compared the magnitude of the association between child FLG mutations and incidence and timing of offspring allergic diseases and a maternal allergy preventive diet during pregnancy and incidence and timing of offspring allergic diseases during childhood. Carrying a FLG mutation has been directly associated with significantly increased risk of childhood eczema due to its effect on skin barrier function, and indirectly with other allergic diseases following eczema as part of the allergic march. Rates of outcomes were lowest in children without FLG mutation whose mothers ate an allergy preventive diet during pregnancy. Children with FLG mutation had similar risk of atopic dermatitis, asthma, and wheeze as children without an FLG

mutation whose mothers did not eat an allergy preventive diet during pregnancy. This result suggests that in children with no FLG mutation, the risk conferred by not eating an allergy preventive diet during pregnancy was similar to the risk conferred by having a FLG mutation.

In our cohort, 8% of children showed a filaggrin gene mutation. Two UK birth cohort with predominantly Caucasian participants reported that 11.8%¹² and 10.3%¹³ of their populations had a filaggrin gene mutation using the same genes and analysis as our cohort. The slightly lower percentage seen in this study probably reflects the strong population admixture seen in the Denver metropolitan area, with children of ethnic ancestries from across the globe. There is the possibility that some individuals with rare FLG mutations that are not captured by the allelic discrimination assays used in this study¹⁴ will be misclassified as wildtype, this is unlikely to alter the conclusions of the study as the FLG variants assessed in this capture the most common variants in both European and African-American populations.

Very little data is available about the mechanisms underlying the association between dietary intake in pregnancy and child allergic outcomes. One study suggested that glutamine supplementation may affect allergy outcomes and reduced inflammatory T-cell responses in cases with Caspase Recruitment Domain Family Member 11 (CARD11) gene mutations.¹⁵ Another study indicates that omega-3 fatty acid intake in pregnancy was associated with reduced child eczema through epigenetic changes associated with the fatty acid desaturase 1 and 2 (FADS1 and 2) and Fatty Acid Elongase 5 (ELOVL5) genes.¹⁶ Other hypotheses include the effect of specific micronutrients on the development of the immune system and the effect of maternal diet on maternal microbiota.^{17,18}

One question often encountered in a clinical allergy setting is if a genetic risk of developing an allergy, outweighs the risk of a healthy diet. The data from this study indicates that genetic risk may outweigh the risk of a non-allergy prevention diet for child allergic rhinitis, but both genetic risk and non-allergy prevention diets confer similar risk for child asthma, wheeze and eczema. To the best of our knowledge, this is a novel finding and there are no previous studies focusing on child risk of allergy outcomes, child genetic risk and maternal overall dietary intake in pregnancy.

Two studies focusing on environmental exposure to peanut demonstrated that peanut levels in dust in early life are associated with an increase in the development of peanut allergy, especially if the infant had filaggrin loss-of-function mutations or a history of eczema,^{19,20} but did not assess

the association between FLG mutations, maternal food intake during pregnancy and allergy outcomes. These authors hypothesize that the effect seen may indicate that children with a skin barrier dysfunction, may be more like to become sensitized to food allergens via a defective skin barrier function. An alternative hypothesis is that household dust levels might be another marker of the contact from household peanut consumption on the environment and skin of the child.²¹

Both genetic and dietary effects are important in precision nutrition. Genetic and dietary effects have been studied for many of the non-communicable diseases such as obesity, diabetes, cardiovascular diseases, cancer and respiratory diseases.²² However, relatively little is known the comparative effects of genetic and dietary factors in allergy prevention.¹⁶ We studied dietary exposures during pregnancy and one of the most common genetic mutations associated with allergy outcomes, due to its importance in epithelial barrier function.²³ We classified children by FLG mutation status and maternal dietary intake during pregnancy to provide information on how genotypic information could be used to inform nutritional recommendations in pregnancy for allergy prevention. Using genotypic information obviates biases which can be created by using self-reported variables, such as maternal history of allergy. Other strengths of the study include the large cohort that has been followed prospectively and allergy diagnosis based on electronic medical record review. There is currently no data to address the sensitivity and specificity of this approach, however medical record data have been used in European cohort studies to report on asthma outcomes and to validate these methods of reporting.²⁴

Results of the sensitivity analysis showed that additionally adjusting for child's season of birth, as a proxy for maternal prenatal vitamin D exposure, did not change the results. This indicates little support for the hypothesis that maternal vitamin D levels affect the risk of offspring disease outcomes. Furthermore, we did not adjust our data for childhood vitamin D intake as current information on vitamin D intake in infancy and childhood and its association with allergy outcomes provides a confusing picture.²⁵⁻³² This may be due to various factors that can influence vitamin D levels such as sun exposure, country of residence, ethnicity, age, diet intake, vitamin D supplementation (timing, formulation and dose), genetic polymorphisms affecting vitamin D metabolism, epigenetic changes that contribute to vitamin D levels, vitamin D binding protein, interaction with disease-associated genetic polymorphisms, definition of vitamin D insufficiency/deficiency, and time-points for assessment of vitamin D status.³³ We acknowledge that are data suggesting that vitamin D intake in childhood may increase the risk of asthma. A prospective birth cohort study of 123 infants indicated that vitamin D intake of >13

ug/day were associated with increased asthma by 6 years of age.³⁴ Another study³⁵ reported that children supplemented with vitamins A and D in water-soluble form, as opposed to a fat soluble form, during infancy showed an increased risk of asthma by 4 years of age. We did not have this level of detailed information on vitamin D intake in children.

There were some limitations of the study. Because there was only a small subset of children with a FLG mutation (n=49), we were unable to examine the interaction between dichotomous maternal diet index and child FLG mutation status in the Cox proportional hazards models as there were cell sizes less than five. However, we were able to perform exact logistic regression analyses to test this interaction and the results indicated that there was no significant interaction between dichotomous maternal diet index and child FLG mutation status for child allergic diseases up to age 4 years. In order to answer this question in a true precision nutrition fashion, a study recruited on the basis of FLG mutation is necessary to provide the sample size to study the interaction in detail. Further limitations include low prevalence of food allergy in this cohort and a lack of skin prick test to confirm atopic status. We were unable to evaluate IgE-mediated food allergy as an outcome for the Cox proportional hazards models because the small number of children diagnosed with IgE-mediated food allergy that also had a FLG mutation (n=2) prevented these models from being fit. In addition, we were unable to examine IgE-mediated food allergy as an outcome in the exact logistic regression models that tested the interaction between maternal diet and child FLG mutation, because there were no children with IgE-mediated food allergy who had an FLG mutation and a maternal diet index score below the median. While the study did not account for childhood diet, the analysis did adjust for factors previously shown to be important in allergy risk,⁸ including gestational smoking, nulliparity, mode of delivery, breastfeeding duration, age of introduction of solid foods, child's race/ethnicity, and child's sex.

For allergy prevalence data, children were followed-up at standard pediatric visits in the US, and for any other medical condition that required a medical assessment at Children's Hospital Colorado, including allergy assessments. We are aware of the limitations of using electronic medical record data opposed to objectively diagnosed data. There is currently no data to address the sensitivity and specificity of this approach, however medical record data have been used in European cohort studies to report on asthma outcomes and to validate these methods of reporting.²⁴ There are limited studies or surveys from the US using medical record data such as the data present by Hill et al.³⁶ but this approach was not validated.

Data in terms of “ever” allergy, transient allergy and persistent allergy was not available for our cohort. In terms of atopic dermatitis, there seems to be inconsistency of findings about the association between FLG-LOF and different atopic dermatitis phenotypes with one study showing an inconsistent association between FLG genotype, an different definitions of atopic dermatitis.³⁷ Data from a UK and European cohort showed an association between FLG-LOF mutations and all definitions of atopic dermatitis (no atopic dermatitis, Early-onset-persistent atopic dermatitis, Early-onset-late-resolving atopic dermatitis, Early-onset-early-resolving atopic dermatitis, Mid-onset-resolving atopic dermatitis, Late-onset-resolving atopic dermatitis) other than mid childhood onset of atopic dermatitis (UK cohort) and children with early onset atopic dermatitis who outgrew their atopic dermatitis (EU cohort).³⁸ In terms of asthma, data from the COPSAC study (Denmark)³⁹ indicated an increased risk of developing recurrent wheeze, asthma and asthma exacerbations in children with FLG-LOF mutations in the 1.5 yr of life. FLG-LOF increased the risk of eczema in the first year of life. The COPSAC study therefore shows that FLG-LOF is not only associated with the development of allergic diseases but also the timing of development, recurrence of disease and severity.

Infant diet may also affect allergy outcomes, but we were unable to take infant diet into account in our analysis other than breastfeeding duration and age of introduction of solids. Further gaps that need to be addressed in future include addressing questions about the association between dietary intake during pregnancy, its association with the maternal and infant microbiome, maternal and child epigenetic profiling and subsequent child allergic outcomes.

In conclusion, the results of the study imply that not eating an allergy preventive diet in pregnancy confers similar risk as having the FLG loss of function mutation for the development of child asthma, wheeze and eczema. The lowest risk occurred in children without FLG mutation whose mothers ate an allergy preventive diet during pregnancy. Maternal diet during pregnancy is a modifiable risk factor which can be addressed to reduce offspring allergic disease risk.

Acknowledgments

This work was supported by the National Institutes of Health (NIH), grant numbers: R01 DK076648/DK/NIDDK NIH HHS/United States, R01 GM121081/GM/NIGMS NIH HHS/United States, UG3 OD023248/OD/NIH HHS/United States, UH3 OD023248/OD/NIH HHS/United States, R25GM111901-S1, R25GM11190, NIH grant R00ES025817.

426 **Impact statement**

427 Our results show that child FLG mutations do not modify the strength of the association between
428 maternal diet and child allergy outcomes. In addition, we show that FLG mutations and a maternal
429 non-allergy preventive diet during pregnancy confer similar risk for offspring asthma, wheeze and
430 atopic dermatitis. The results suggest that mothers, regardless of FLG mutation status, should be
431 counseled regarding dietary intake in pregnancy.

References

1. Center for Disease Control. Hayfever and Allergies. <https://www.cdc.gov/nchs/fastats/allergies.htm>. Published 2017. Accessed July 2019.
2. Akdis CA. Does the epithelial barrier hypothesis explain the increase in allergy, autoimmunity and other chronic conditions? *Nature Reviews Immunology*. 2021.
3. Bin L, Leung DY. Genetic and epigenetic studies of atopic dermatitis. *Allergy Asthma Clin Immunol*. 2016;12:52.
4. Drislane C, Irvine AD. The role of filaggrin in atopic dermatitis and allergic disease. *Ann Allergy Asthma Immunol*. 2020;124(1):36-43.
5. Venkataraman D, Soto-Ramirez N, Kurukulaaratchy RJ, et al. Filaggrin loss-of-function mutations are associated with food allergy in childhood and adolescence. *J Allergy Clin Immunol*. 2014;134(4):876-882 e874.
6. Garcia-Larsen V, Ierodiakonou D, Jarrold K, et al. Diet during pregnancy and infancy and risk of allergic or autoimmune disease: A systematic review and meta-analysis. *PLoS Med*. 2018;15(2):e1002507.
7. Venter C, Agostoni C, Arshad S.H., Ben-Abdallah M., Du Toit G., Flesicher D.M., Greenhawt M., Glueck D., Groetch M., Maslin K., Maiorella A., Meyer R., Muraro A., Netting M., Nwaru B.N., Palmer D.J., Palumbo M., Roberts G., Roduit C., Smith P.K., Untersmayr E., Vanderlinden L., O'Mahony L. Dietary factors during pregnancy and atopic outcomes in childhood: a systematic review from the European Academy of Allergy and Clinical Immunology. *Pediatr Allergy Immunol*. 2020; 31(8):889-912.
8. Venter C, Palumbo MP, Glueck DH, et al. The Maternal Diet Index in Pregnancy is associated with offspring allergic diseases: The Healthy Start Study. *Allergy*. 2021, doi: 10.1111/all.14949.
9. Sauder KA, Kaar JL, Starling AP, Ringham BM, Glueck DH, Dabelea D. Predictors of Infant Body Composition at 5 Months of Age: The Healthy Start Study. *J Pediatr*. 2017;183:94-99 e91.
10. Sauder KA, Koeppen HJ, Shapiro ALB, et al. Prenatal Vitamin D Intake, Cord Blood 25-Hydroxyvitamin D, and Offspring Body Composition: The Healthy Start Study. *Nutrients*. 2017;9(7).
11. Venter C, Palumbo MP, Sauder KA, et al. Incidence and timing of offspring asthma, wheeze, allergic rhinitis, atopic dermatitis, and food allergy and association with maternal history of asthma and allergic rhinitis. *World Allergy Organization*. 2021;14(3):100526.
12. Venter C, Maslin K, Holloway JW, et al. Different Measures of Diet Diversity During Infancy and the Association with Childhood Food Allergy in a UK Birth Cohort Study. *J Allergy Clin Immunol Pract*. 2020, 8(6):2017-2026.
13. Zhang H, Akhilesh K, Simon M., Melén E., Rezwan F., Han L., Ewart S., Arshad S., Karmaus W., Holloway J.W. DNA methylation and allergic sensitizations, a genome-scale longitudinal study during adolescence. *Allergy*. 2019;74(6):1166-1175.
14. Margolis DJ, Mitra N, Gochnauer H, et al. Uncommon Filaggrin Variants Are Associated with Persistent Atopic Dermatitis in African Americans. *J Invest Dermatol*. 2018;138(7):1501-1506.
15. Nakaya M, Xiao Y, Zhou X, et al. Inflammatory T Cell Responses Rely on Amino Acid Transporter ASCT2 Facilitation of Glutamine Uptake and mTORC1 Kinase Activation. *Immunity*. 2014;40(5):692-705.
16. Losol P, Rezwan FI, Patil VK, et al. Effect of gestational oily fish intake on the risk of allergy in children may be influenced by FADS1/2, ELOVL5 expression and DNA methylation. *Genes Nutr*. 2019;14:20.
17. Pham MN, Bunyavanich S. Prenatal Diet and the Development of Childhood Allergic Diseases: Food for Thought. *Curr Allergy Asthma Rep*. 2018;18(11):58.

18. Acevedo N, Alashkar Alhamwe B, Caraballo L, et al. Perinatal and Early-Life Nutrition, Epigenetics, and Allergy. *Nutrients*. 2021;13(3):724.
19. Brough HA, Kull I, Richards K, et al. Environmental peanut exposure increases the risk of peanut sensitization in high-risk children. *Clin Exp Allergy*. 2018;48(5):586-593.
20. Brough HA, Simpson A, Makinson K, et al. Peanut allergy: effect of environmental peanut exposure in children with filaggrin loss-of-function mutations. *J Allergy Clin Immunol*. 2014;134(4):867-875 e861.
21. Brough HA, Santos AF, Makinson K, et al. Peanut protein in household dust is related to household peanut consumption and is biologically active. *J Allergy Clin Immunol*. 2013;132(3):630-638.
22. Mullins VA, Bresette W, Johnstone L, Hallmark B, Chilton FH. Genomics in Personalized Nutrition: Can You "Eat for Your Genes"? *Nutrients*. 2020;12(10).
23. Rinaldi AO, Korsfeldt A, Ward S, et al. Electrical impedance spectroscopy for the characterization of skin barrier in atopic dermatitis. *Allergy*. 2021, doi: 10.1111/all.14842.
24. Moth G, Vedsted P, Schiøtz PO. National registry diagnoses agree with medical records on hospitalized asthmatic children. *Acta Paediatr*. 2007;96(10):1470-1473.
25. Hollams E, Teo S, Kusel M. Vitamin D over the first decade and susceptibility to childhood allergy and asthma. *J Allergy Clin Immunol*. 2017;139(2):472-481.
26. Litonjua AA, Carey VJ, Laranjo N. Effect of Prenatal Supplementation With Vitamin D on Asthma or Recurrent Wheezing in Offspring by Age 3 Years: The VDAART Randomized Clinical Trial. *JAMA Dermatol*. 2016;315(4):362-370.
27. Rosendahl J, Pelkonen A, Helve O. High-Dose Vitamin D Supplementation Does Not Prevent Allergic Sensitization of Infants. *J Pediatr*. 2019:139-145.
28. Yepes-Nunez J, Brozek J, Fiocchi A. Vitamin D supplementation in primary allergy prevention: Systematic review of randomized and non-randomized studies. *Allergy*. 2018;73(1):37-49.
29. Hawrylowicz C, Santos A. Vitamin D: can the sun stop the atopic epidemic? *Curr Opin Allergy Clin Immunol*. 2020;20(2):181-187.
30. Allen KJ, Koplin J, Ponsonby A. Vitamin D insufficiency is associated with challenge-proven food allergy in infants. *J Allergy Clin Immunol*. 2013;131(4):1109-1116.
31. Hennessy Á, Hourihane JOB, Malvisi L, et al. Antenatal vitamin D exposure and childhood eczema, food allergy, asthma and allergic rhinitis at 2 and 5 years of age in the atopic disease-specific Cork BASELINE Birth Cohort Study. *Allergy*. 2018;73(11):2182-2191.
32. Thorisdottir B, Gunnarsdottir I, Vidarsdottir A, Sigurdardottir S, Birgisdottir B, Thorsdottir I. Infant Feeding, Vitamin D and IgE Sensitization to Food Allergens at 6 Years in a Longitudinal Icelandic Cohort. *Nutrients*. 2019;11(7).
33. Greer F, Sicherer SH, Burks A. Committee On N, Section On A, Immunology. The Effects of Early Nutritional Interventions on the Development of Atopic Disease in Infants and Children: The Role of Maternal Dietary Restriction, Breastfeeding, Hydrolyzed Formulas, and Timing of Introduction of Allergenic Complementary Foods. *Pediatrics*. 2019;143(4).
34. Back O, Blomquist HK, Hernell O, Stenberg B. Does vitamin D intake during infancy promote the development of atopic allergy? *Acta Dermato-Venereologica*. 2009;89(1):28-32.
35. Kull I, Bergström A, Melén E, et al. Early-life supplementation of vitamins A and D, in water-soluble form or in peanut oil, and allergic diseases during childhood. *J Allergy Clin Immunol*. 2006;118(6):1299-1304.
36. Hill DA, Grundmeier RW, Ram G, Spergel JM. The epidemiologic characteristics of healthcare provider-diagnosed eczema, asthma, allergic rhinitis, and food allergy in children: a retrospective cohort study. *BMC Pediatr*. 2016;16:133.

- 534 37. Nakamura T, Haider S, Fontanella S, Murray CS, Simpson A, Custovic A. Modelling
535 trajectories of parentally reported and physician-confirmed atopic dermatitis in a birth
536 cohort study. *Br J Dermatol*. 2021; <https://doi.org/10.1111/bjd.20767>
537 38. Paternoster L, Savenije OEM, Heron J, et al. Identification of atopic dermatitis subgroups
538 in children from 2 longitudinal birth cohorts. *J Allergy Clin Immunol*. 2018;141(3):964-
539 971.
540 39. Bønnelykke K, Phipps CB, Tavendale R, Palmer CN, Bisgaard H. Filaggrin gene variants
541 and atopic diseases in early childhood assessed longitudinally from birth. *Pediatr Allergy*
542 *Immunol*. 2010;21(6):954-961.

543 **Tables**

544

Table 1. Classification of genotypes as wild-type or mutant for each of the Filaggrin mutations analyzed

Mutation name	dbSNP ID	Wild-type genotype	Mutant (minor allele) genotype(s)
R501X	rs61816761	Homozygous allele 1/allele 1	Homozygous allele 2/allele 2, Heterozygous
S3247X	rs150597413	Homozygous allele 2/allele 2	Heterozygous
R2447X	rs138726443	Homozygous allele 1/allele 1	Heterozygous
2282del4		Homozygous allele 1/allele 1	Heterozygous
p.S3316X	rs149484917	Homozygous allele 1/allele 1	Heterozygous
p.R826X	rs115746363	Homozygous allele 1/allele 1	Heterozygous

545

Table 2. Descriptive characteristics of study participants

	Overall sample	No child Filaggrin mutation	Yes child Filaggrin mutation [†]	
Sample size (N)	624	575	49	
Continuous variables	← median (interquartile range) →			p-value [‡]
Breastmilk-months	7.00 (2.00, 12.75)	7.00 (2.00, 12.63)	5.38 (1.52, 13.00)	0.86
Age of introduction of solid foods (months)	6.00 (5.00, 6.00)	6.00 (5.00, 6.00)	6.00 (4.00, 6.00)	0.73
Categorical variables	← n (%) →			p-value [§]
Maternal diet index ≥ median	312 (50)	281 (50)	31 (63)	0.07
Gestational smoking	56 (9)	50 (9)	6 (12)	0.43
Nulliparous	314 (50)	286 (50)	28 (57)	0.37
Maternal history of asthma	101 (16)	91 (16)	10 (20)	0.42
Mode of delivery – vaginal	491 (79)	453 (79)	38 (78)	0.86
Child's race/ethnicity				0.67
Non-Hispanic White	323 (52)	293 (51)	30 (61)	
Non-Hispanic Black	77 (12)	72 (13)	5 (10)	
Hispanic	147 (24)	138 (24)	9 (18)	
Other [¶]	77 (12)	72 (13)	5 (10)	
Child's sex – female	295 (47)	270 (47)	25 (51)	0.66

† Children were classified as having a Filaggrin mutation if they had a non-wild type genotype for any of the following Filaggrin mutation variants: R501X, S3247X, R2447X, 2282del4, p.S3316X, p.R826X

‡ Group differences were assessed using non-parametric Wilcoxon rank sum tests.

§ Group differences were assessed using Fisher's exact tests.

¶ Other race/ethnicity includes Asian, American Indian/Alaska Native, Hawaiian/Pacific Islander, and multiracial.

Table 3. Number of children with mutant genotypes for each of the Filaggrin mutation variants studied, stratified by child race/ethnicity

	N	R501X	S3247X	R2447X	2282del4	p.S3316X	p.R826X
Non-Hispanic white	323	14	2	2	9	0	4
Non-Hispanic black	77	1	1	0	2	0	1
Hispanic	147	0	1	0	5	0	4
Other†	77	1	1	0	2	1	0
Total with mutant genotype	624	16	5	2	18	1	9

† Other race/ethnicity includes Asian, American Indian/Alaska Native, Hawaiian/Pacific Islander, and multiracial.

Table 4. Exact logistic regression models for diagnosis of allergic disease outcomes up to age 4 years that examine the interaction between child Filaggrin mutation status and maternal diet

Allergic disease	Exact odds ratio for interaction [†]	Exact 95% CI [‡]	Exact p-value
Allergic rhinitis	0.90	0.13, 5.65	1.00
Atopic dermatitis	0.98	0.21, 4.31	1.00
Asthma	0.55	0.07, 3.37	0.72
Wheeze	1.00	0.18, 5.29	1.00

† Odds ratio estimate is for the parameter for the multiplicative interaction between child Filaggrin mutation status (yes vs. no) and maternal diet (allergy preventive vs. non-allergy preventive)

‡ CI: confidence interval

Table 5. Results of hypothesis tests in unadjusted and adjusted CPH models comparing rate of offspring development of allergic diseases between the three child Filaggrin (FLG) mutation and maternal diet index groups

	Unadjusted (N=624)			Adjusted [†] (N=492)		
	Groups [‡] compared			Groups [‡] compared		
	Group 1 ^c vs. Group 2 ^d (ref [§])	Group 1 vs. Group 3 ^e (ref [§])	Group 2 vs. Group 3 (ref [§])	Group 1 vs. Group 2 (ref [§])	Group 1 vs. Group 3 (ref [§])	Group 2 vs. Group 3 (ref [§])
Allergic disease	← Hazard Ratio (95% CI [¶]) →			← Hazard Ratio (95% CI [¶]) →		
Allergic rhinitis	1.36 (0.71, 2.62)	3.20 (1.55, 6.61)**	2.35 (1.42, 3.87)***	2.29 (1.10, 4.76)*	3.21 (1.46, 7.08)**	1.40 (0.76, 2.57)
Atopic dermatitis	0.95 (0.57, 1.56)	2.45 (1.42, 4.21)**	2.59 (1.84, 3.64)***	1.30 (0.74, 2.29)	2.40 (1.32, 4.37)**	1.85 (1.23, 2.78)**
Asthma	0.99 (0.53, 1.88)	2.36 (1.18, 4.71)*	2.37 (1.54, 3.65)***	1.27 (0.61, 2.63)	2.29 (1.05, 4.97)*	1.80 (1.07, 3.02)*
Wheeze	0.96 (0.52, 1.77)	2.19 (1.14, 4.24)*	2.28 (1.52, 3.41)***	1.29 (0.65, 2.58)	2.10 (1.004, 4.38)*	1.62 (0.995, 2.64)

† Adjusted for the following covariates: gestational smoking, nulliparity, **maternal history of asthma**, mode of delivery, breastfeeding duration, age of introduction of solid foods, child's race/ethnicity, and child's sex

‡ Group 1: children with FLG mutation; Group 2: children without FLG mutation whose mothers did not eat an allergy preventive diet; Group 3: children without FLG mutation whose mothers ate an allergy preventive diet

§ The reference group is indicated with the abbreviation "ref"

¶ CI: confidence interval

* p < 0.05, ** p < 0.01, *** p < 0.001

554 **Figure legends**

555 **Figure 1. Participant exclusion diagram for the analytic sample.**

556 Figure 2. Comparing rates of (a) allergic rhinitis, (b) atopic dermatitis, (c) asthma, and (d) wheeze
557 development in offspring between the three child Filaggrin mutation and maternal diet groups.

558 Plots produced from models adjusted for covariates with their values set equal to their median
559 value for continuous variables or their most frequent level for categorical variables.